Sample Paper of OA Il

1. The Chairman is ill and we'll have to ............. the meeting for a few days.

(A) Put on
(B) Put of
(C) Put away
(D) Put Off

2. The catand the dog havea .............. enemy in the rat

(A) Same
(B) Common
(C) Mutual
(D) Similar

3. Choose the correct option
I am tired | am working since 7 O’ clock in the morning

(A) I have been working
(B) 1 had been working
(C) I was working

(D) No improvement

4. Choose the correct spelt word:
(A) Puerille

(B) Puerile

(C) Purrile

(D) Puerile

5. Fill in the blanks with most suitable alternative.
Your case is so unique that am not getting any .................. To support it.
(A) Reason
(B) Help
(C) Happening
(D) Precedent

6. He told me thathe .......... watching the movie
(A) is finished -
(B) was finished

(C) had finished

(D) not finished

7. Heisverygood............ making stories
(A)in

(B) at

(C) about

(D) for

8. Choose the correct verb form from those in brackets.
The earth round the sun.
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(A) moves

(B) moved

(C) move

(D) None of the above

9. The wind is variable today.
Synonym of the word in bold?

(A) mild

(B) Shifting

(C) Steady

(D) Chilling

10. Generic is most similar in meaning to
(A) Branded

(B) Basic

(C) Trademarked

(D) Specific

11. Select the antonym of fidgety
(A) composed

(B) restive

(C) twitchy

(D) antsy

12. All students should express their views in the group discussion
without any fear

(A) Branded

(B) Basic

(C) Trademarked

(D) Specific

13. In the following question, out of the four alternatives, select the word
opposite in meaning to the word given.
Nugatory

(A) Delusive

(B) Futile

(C) Unreal

(D) Productive

14. In the following question, the sentence given with blank to be filled in with an
appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

He was sworn as the Prime Minister of our country.

(A) in

(B) off

(C) about

(D) out

15. of International disputes through negotiations and peaceful
means are some of the salient features
Options
(A)Urge
(B) requirement
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(C) settlement
(D) enactment

16. Street Theatre usually with issues of public importance.
(A) is distanced

(B) is performed

(C) deals

(D) does not deal

17. Economic and cultural cooperation disarmament and peaceful of
nuclear energy

(A) uses

(B) disruption

(C)sources

(D) negotiation

18. Improve the bracketed part of the sentence.

I left my job because | did not (agree to) the company's appraisal policies.

(A) agree about

(B) agree with

(C) agree on

(D) No improvement

19. In the following question, the sentence given with blank to be filled in with an
appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.
The meeting was presided by the Chairman.
(A) over
(B) upon
(C) of
(D) in

20. In the following question, four words are given out of which one word is
incorrectly spelt. Find the incorrectly spelt word.
Options:
(A) Pertinacious

(B) Demarcation
(C) Temperament
(D) Sureptitious

21. Valmiki National Park, which was seen in the news recently, is the only
National Park of which state?

(A) Uttar Pradesh

(B) Bihar

(C) Uttarakhand

(D) Jharkhand

22. “National Football Museum” which keeps FIFA collection is located in which
country?
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(A) Switzerland
(B) Canada
(C) England
(D) France

23. Sachin Tendulkar hit his 100th international century against which among the
following team?

(A) Sri Lanka

(B) Bangladesh

(C) Pakistan

(D) South Africa

24. Who was the first international player to use a Kookaburra released carbon
fibre-reinforced polymer support bat? £

(A) Virat Kohli

(B) Kapil Dev

(C) Chris Gayle

(D) Ricky Ponting

25. Who is the first Indian woman to win two Olympic medals?
(A) Deepika Kumari

(B) Manika Batra

(C) PV Sindu

(D) Saina Nehwal

26. Sawai Raja Jai Singh was the ruler of
(A) Amber

(B) Ajmer

(C) Satara

(D) Kannauj

27. Which of the following is not true about First Anglo-Mysore War?
(A) First Anglo-Mysore War fought in AD 1767-69

(B) Hyder Ali defeated the English in the First Anglo-Mysore War

(C) Treaty of Madras was the result of First Anglo-Mysore War

(D) All of the above are incorrect

28. Babur’s autobiography, called Tuzuk-i-Baburi or Baburnama, which is
reckoned among “the most enthralling and romantic works in the literature of
all times” is written in

(A) Arabic

(B) Persian

(C) Turki

(D) Urdu

29. What is the FDI limit permitted under the automatic route for renewable
energy projects?

(A) 25 %

(B) 49%
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(C) 74%
(D) 100%

30. Which of the following pair is incorrect?
(A) Abul Fazal Chief -Advisor

(B) Faizi — Poet

(C) Birbal - Finance Minister

(D) All are correct

31. The city of Dhillika (Delhi) was founded by the
(A) Chauhans

(B) Tomars

(C) Pawars

(D) Pariharas

32. Ohm is a unit of measuring ?
(A) Resistance

(B) Voltage

(C) Current

(D) None of the above

33. The first nuclear submarine which was acquired by the Indian Navy was
named:

(A) Chakra

(B) Agni

(C) Nag

(D) Gangotri

34. Heat from the sun is recovered by the Earth through :
(A) Convection

(B) Radiation

(C) Conduction

(D) None of the above

35. To open a PDF file which application is to be used?
(A) VLC Player

(B) Eclipse

(C) GIMP

(D) Acrobat Reader

36. Priyanka Chopra has been crowned :
(A) Miss India

(B) Miss Universe

(C) Miss International

(D) Miss World

37. Where is the Bandipur National Park.
(A) Andhra Pradesh

(B) Tamil Nadu

(C) Karnataka

(D) Rajasthan
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38. The Jawahar Turnel, the largest in India is located in
(A) Rajasthan

(B) West Bengal

(C) Jammu and Kashmir

(D) Karnataka

39. In MS Excel what does the F1 key activate.
(A) Help

(B) New Worksheet

(C) Save Menu

(D) Print

40. To move UP and Down in a Word Document one can use.

(A) Ctrl-U/Ctrl-D

(B) Right Mouse click

(C) Scroll Bar

(D) Alt- Ctrl-U/Alt-Ctrl-D J A

41. Which of the following is not a operating systems.
(A) Windows

(B) Mac

(C) Ubuntu

(D) Opera

42. GST stands as an abbreviation for —
(A) Gross Sales Tax B

(B) Grand State Tax

(C) Goods Sales Tax

(D) None of these

43. A boat can travel with a speed of 13 km/hr in still water. If the speed of the
stream is 4 km/hr, find the time taken by the boat to go 68 km downstream.

(A) 2 Hours

(B) 4 Hours

(C) 5 Hours

(D) 3 Hours

44. Speed of a boat in standing water is 9 kmph and the speed of the stream is
1.5 kmph. A man rows to a place at a distance of 105 km and comes back to
the starting point. The total time taken by him is:

(A) 16 Hours
(B) 24 Hours
(C) 18 Hours
(D) 20 Hours

45, If (17)2is subtracted from the square of a number, the answer so obtained
is 1232. What is the number?

(A) 36

(B) 42

(C) 37

(D) 39

46. Which is the smallest fraction among the following?
(A) 719
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(B) 9/13
(C) 8/11
(D) 4/5

47. If 30% of a number is 12.6, find the number?
(A) 45
(B) 40
(C) 42
(D) 38

48. How many seconds will a 500-metre-long train take to cross a man walking
with a speed of 3 km/hr in the direction of the moving train if the speed of the

train is 63 km/hr?
(A) 25
(B) 30 ‘
(C) 40 ' *
(D) 45

49. Two goods train each 500 m long, are running in opposite directions on
parallel tracks. Their speeds are 45 km/hr and 30 km/hr respectively. Find the

time taken by the slower train to pass the driver of the faster one.
(A) 12 sec
(B) 24 sec
(C) 48 sec
(D) 60 sec

50. A sum of money amounts to Rs. 9800 after 5 years and Rs. 12005 after 8

years at the same rate of simple interest. The rate of interest per annum is:
(A) 5%
(B) 8%
(C) 12%
(D) 15%

51. Fraction between 2/5 and 4/9 is
(A)3/7

(B)2/3

(C)4/5

(D)1/2

52. Two students appeared at an examination. One of them secured 9 marks
more than the other and his marks was 56% of the sum of their marks. The
marks obtained by them are:

(A) 39, 30

(B) 41, 32

(C) 42, 33

(D) 43, 34
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53. A fruit seller had some apples. He sells 40% apples and still has 420 apples.

Originally, he had:
(A) 588 apples
(B) 600 apples
(C) 672 apples
(D) 700 apples

54. The cube root of .000216 is:
(A) .6

(B) .06

(C) 77

(D) 87

55. A father is 30 years older than his son. He will be three times as old as his

son after 5 years. What is the father's present age?
(A) 35
(B) 40
(C) 45
(D) 30

56. Which one of the following is not a prime number?
(A) 31
(B) 61
(C) 71
(D) 91

57. If NOIDA is written as OPJEB, then what will be the code for DELHI?
(A) EFMAK

(B) EFAMK

(C) EFMIJ

(D) EFMIK

58. What will be the missing number in the series 196, 169, 144, __, 100, 81?
(A) 120
(B) 225
(C) 121
(D) 118

59. Arrange the following words in a meaningful sequence -
Frog

Grass

Grasshopper

Eagle

Snake

(A) 2,3,1,5,4

(B) 3,2,1,4,5

(C)2,1,3,45

(D) 4,5,1,3,2

60. Pointing to a photograph, a man said, "I have no brother, and that man's
father is my father's son.” Whose photograph was it?
(A) His Son
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(B) His Own
(C) His Father
(D) His Nephew

61. All cases involving loss of Government money arising from erroneous or
irregular issue of cheques or irregular accounting of receipts will be reported

to the:
(A) Chief Controller of Accounts
(B) Controller General of Accounts
(C) Comptroller & Auditor General
(D) Audit/Account Officer

62. Account showing under the respective Heads and annual receipts and
disbursements and statement of balances for the purpose of the Union, are
called

(A) Appropriation of Accounts i .

(B) Finance Accounts

(C) Proforma Accounts

(D) None of the above

63. Limited tenders will be called for works costing less than rupees
(A) 1 Lakh

(B) 2 Lakhs

(C) 5 Lakhs

(D) 10 Lakhs

64. Proprietary Article certificate is applicable in.

(A) Limited tender enquiry
(B) Advertised tender enquiry
(C) Single Tender enquiry
(D) Two bid enquiry tender

65. Performance Security should be for an amount of (of the Value of the
contract as specified in the bid documents).

(A) 2-5%
(B) 5-10%

(C) 10-15%
(D) 15-20%

66. Under Article 284 of the constitution of India , all money received by or
deposited with any officer employed in connection with the affairs of the
Union in his capacity as such, other than revenues or public moneys raised
or received by Government, shall be paid into the.

(A) Consolidated fund of India
(B) Contingency fund of India
(C) Public Account

(D) Department of Account
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67.

68.

69.

70.

71.

72.

73.

74.

Who shall watch the realization of miscellaneous demands of Government,
not falling under the ordinary revenue administration, such as contributions
from state Governments, Local Funds, contractors and other towards
establishment charges.

(A) Head of the Department

(B) Accounts Officer

(C) Chief Accounting Officer

(D) Department of Revenue

Standards of Financial property have been referred to in the GFR under rule:
(A) 19
(B) 21
(C) 20
(D) 22

Child Care Leave can be availed upto ' ¥
(A) 365 Days

(B) 730 Days

(C) 2 Years

(D) 180 Days

Minimum service required to be eligible for Leave Travel Concession is
(A) 3 Year

(B) 5 Years

(C) 1 Years

(D) Nil

Upto ___ % of the fare can be sanctioned as Leave Travel Concession
Advance

(A) 80%

(B) 100%

(C) 90%

(D) 75%

Earned leave can be accumulated upto
(A) 300 Days

(B) 240 Days

(C) 365 Days

(D) No Limit

The Right to Information Act was notified in
(A) 2005
(B) 2001
(C) 2004
(D) 2003

Child care leave is admissible if the child is below ......
(A) 18 years
(B) 17 years
(C) 21 years

Page 11 of 16



(D) 25 years

75. In a calendar year, CCL cannot be granted for more than—
(A) 2 times
(B) 3 times
(C) 4 times
(D) 6 times

76. CCL shall be admissible for .................
(A) First child only
(B) Two eldest surviving children only
(C) Any child
(D) None

77. CCL may not be granted for less than .................. days.
(A) 20 days
(B) 30 days
(C) 15 days
(D) 5 days

[ A—— number of days of earned leave are credited in advance to the
leave account of a Government servant during January and July.
(A) 20 days
(B) 10 days
(C) 15 days
(D) None

79. Leave account of Government servant shall be maintained by the—
(A) Accounts Officer
(B) Concerned staff
(C) Head of Office
(D) None of the above

80. Foreign service means service in which a Government servant receives his
pay from—
(A) Consolidated fund of India
(B) Consolidated fund of State
(C) Consolidated fund of Union Territory
(D) None of the above

81. Government servants are not entitled to leave salary while availing—
(A) Half pay leave
(B) Commuted leave
(C) Extraordinary leave
(D) Child care leave

82. Combination of Study Leave with earned leave shall not generally involve a
total absence of more than—
(A) 16 months
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(B) 24 months
(C) 28 months
(D) 36 months

83. What is the maximum amount of study leave which can be availed by
a Government servant, other than CHS Officers in his entire service?
(A) 24 months
(B) 12 months
(C) 10 months
(D) 15 months

84. What is the maximum period of leave of any kind which can be allowed to a
Government servant?
(A) 5 years
(B) 6 years
(C) 7 years J 5
(D) 2 years

85. EOL is granted to Government servants only—

(A) When no other leave is admissible or on request

(B) When Government servant is on notice period of VRS
(C) Before superannuation

(D) None of the above

86. A Government servant’s claim to leave is regulated by the rules in force at
the time the leave is:
(A) Applied and granted
(B) Debited to the leave account
(C) Availed
(D) Encashed

87. A Government servant who retired on invalid pension, if re-employed is
allowed to count his service for leave if—
(A) He is allowed to count his service for pension
(B) He is allowed encashment of leave
(C) He is allowed carry forward of leave
(D) None of the above

88. Information Library Network (INFLIBNET) initiated by UGC in
(A) 1989 :
(B) 1991
(C) 1990
(D) 1992
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89. DELNET promoted by NIC & NISSAT was started in 1988 and was registered
as Society in
(A) 1989
(B) 1991
(C) 1990
(D) 1992

90. INFLIBNET is coming under which Ministry
(A) Ministry of Education
(B) Ministry of Communication
(C) Ministry of Human Resource Development
(D) None of the above

91. The Director of INFLIBNET Centre, Gandhinagar is .
(A) Prof J P Singh Joorel ; ' .
(B) Prof D P Singh
(C) Prof A D Sahasrabudhe
(D) None of the above

92. The President of INFLIBNET Centre is
(A) Prof J P Singh Joorel
(B) Prof D P Singh
(C) Prof A D Sahasrabudhe
(D) None of the above

93. Authorized travel agents/Agency for Air ticket booking for LTC are.
(A) M/s Ashok Travels & Tours
(B) M/s Balmer Lawrie & Company
(C) IRCTC
(D) All of the above

94. The time limit for submission of LTC claims in normal cases, when no
advance is drawn:
(A) Within three months of completion of return journey
(B) Within one month of completion of return journey
(C) Within six months of completion of return journey
(D) Within two months of completion of return journey

95. In NPS, on superannuation at least of the accumulated pension
wealth has to be utilized for Annuity
(A) 50%
(B) 40%
(C) 30%
(D) None of these

Page 14 of 16



96. In case of inter-state transfer, the Composite Transfer Grantis ___ of last
basic pay
(A) 90%
(B) 80%
(C) 75%
(D) 100%

97. Cess on Income Tax is
(A) 2%
(B) 3%
(C) 5%
(D) None of these

98. In case of retirement, a govt. servant can retain govt. quarter on normal
license fee upto : ~
(A) 3 Months
(B) 6 Months
(C) One Year

(D) One month

99. Minimum benchmark for promotion is
(A) Very Good
(B) Good
(C) Average
(D) None of These

100. Sealed cover cases in promotion is to be reviewed every
(A) Quarter
(B) Year
(C) Month
(D) Six Months
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